
M.E. Fint Semester (Computer Science & lnformation Tcchnologr) (New-CGS)

13181 : Distributed Database Svstcm : I RNME 3

P, Pages : 2

Tim€ ; Th{te Hours ll[|ilinfl ilill lll

AW - 3601

Max. Marks : 80

Notes : I
2

,3
4

Due credit will be given to ncatness and adequate dimensions.
Assume suitable data wherever necessary.

lllustrate your answer necessary with the help of neal sketches.

Use of pcn Blue/Black in}/retill only for rvriting the answer book
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I a) Compare Bnd coltrast betwcco strong entity and $cak entity set.

b) How does distributed operating system differ I'rom netwoft operating System? Explain

OR

a) Sumrnadze the rncmory slruclure oforacle.

b) What is normalizatiou'l Explain about BCNF.

r) Explain client serrer rrlercnce lLchitccl!rrc.

b) Explain distributcd calalogue marugemcnt in detail.

ol{

a) Explain various col1lpolrents ofdistributed database system with its basic archilecture

b) Exploin thc follo$ing.
i) Mobilc databasc. ii) Distributcd databasc Recovery.

a) Explain data ganularity and ho$ it is applicable to data *archouse?

b) Explain how warehousc envirorunent manage thc cxisting data.

OR

a) \!'hat do )'ou mean by puslt bmcd tcchnologies?

b) Explain $hat do you underst,md h)' iotbrmatioD llo\ mcchanistn

a) \\trat arc building blocks ofdata mining? Explain

b) Explain the llleladata rcpositr)ry in data warchousc.

OR

a) Gi\'c advantages and disadvantagcs of top-dortl approach of data wiuehousing'

b) \!'hat are the different kinds ofclussificution schenles io nletadata? Explain'
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9. Explaitr vadous issues rcgarding classification and predication give exarnple.

a) Wllat are the dill'erent styles of data miDing? Explain.

b) What is cluster angllsis? Explain uith an example.

What arc $e different types ofassociation rules? Explain each in details.

OR

a) Why ma*et basket analysis process is required? Explain it in details.

b) State and cxplain Bay's theorem with its application.
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